
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f
- - - - -              - - - - - - - -              - - - - - - - - -                - - - - - - -          - - - - - -
Mj csy pszi iegl sxliv, izivcsri ampp orsa xlex csy evi qc hmwgmtpiw.  (j=f, k=g)
   f



ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a
- - -                     - - - - -                   - - - - -                     - - - -          - - - - -
ew   iegl     lezi    M    nywx     Pszi     pszih     sxliv,     csy.                   (e=a, f=b)
a       a


